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Summary

Costs: refer to the monetary value of goods and services used in the production of other goods and
services; they are expressed in terms of amount of money that a business or individual must spend to acquire
a good .costs can be classified into different categories such as:

Fixed costs: there are costs that do not change with the level of production or output. Examples; salaries
and insurance

Variable costs: there are costs that change with the level of production, examples cost of raw materials,
labor; or energy.

Total cost: is the sum of its fixed and variables costs.

Revenues: refers to the total amount of income generated by a business through the sale of its products
or services, its represents the monetary inflows associated with the normal operations of a business and is
often referred to as the *top line* on an income statement.
Profit: also known as net income refers to the financial gain realized by a business after accounting for all
expenses and costs incurred during a specific period. It represents the bottom line of an income statement
and signifies the overall success or failure of a business’s operations.

Profit= revenue-expenses
The profitability threshold is the turnover (called the break-even turnover) through which the institution
achieves neither profit nor loss; it’s the level of necessary activity through which the institution achieves a null
result. Before reaching this level, the institution is in a state of loss, and after exceeding it, intervention the
enterprise is in a profit zone:
Closing threshold: is the point which the institution achieves loss; it’s the level of necessary activity
through which the institution achieves bankruptcy. Before reaching this level, the institution is in a state of

loss, and after exceeding it, intervention the enterprise is in an out market.



